MathsMind 2013
Year 9
	Question  1
 48 is  
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 of what?
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	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5


	Question  2
 How many cubic millimetres in 2.5 cubic metres?



	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5


	Question  3
How many hours and minutes between 9:30 p.m. April 27th 2013 and 6:45 a.m. May 2nd  2013?



	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5


MathsMind 2013
Year 9
	Question  4
Morris has $5 more than Darren and has $3 more than Glenda.

Together they have $20.50.

How much does Morris have?



	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5


	Question  5
Given that 3.84 x 2.75 = 10.56

Find the value of 
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	Question 6
 If a # b = 2a2 – 3b, find the value of   5 # (3 # 4)



	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5


	Question  7
 Find the value of this product:
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	Question  8
A computer is programmed to scan the digits of the counting numbers.

For example, if it scans

1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12

Then it has scanned fifteen digits.

The computer begins its task and scans the first 1788 digits.

What was the last counting number scanned?



	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5


	Question 9 

The manufacturer of a certain pen claims that it can draw a line 1 km long before it runs dry.  If the line is 0.4 mm wide, then what are, in square metres, is the pen expected to cover?



	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5


	Question  10
A boat capable of travelling at 12 km/hr in still water travels 12 km up a river in 90 minutes.

How fast is the river flowing?



	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5


	Question  11
If 22 boys sat a test and averaged 54%, and 38 girls sat the same test and averaged 60%, what percentage (to the nearest whole number) was the average for all 60 candidates?
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	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5


	Question  12
Two identical jars are filled with mixtures of water and vinegar in the ratio of 2:1 and 3:1 respectively.

If both jars are emptied into another container and the total volume in this container is 840 ml, what volume of vinegar is in the mixture?

	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5


	Question  13
A friend transports my bicycle and I from Tauranga to Hamilton, a distance of 100 km, at an average speed of 75 km/hr.

I then ride my bicycle home at an average speed of 25 km/hr.

What is the average speed for the complete return journey?
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	Attempt 2
	Attempt 3
	Attempt 4
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	Question  14
Andrea is three years older than Bruce.

Andrea’s age plus three times Bruce’s age is equal to 31.

How old is Andrea?

  

	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5


	Question 15  

I have 5 boxes in which there are a total of 100 marbles. In the first and second boxes there is a total of 56 marbles. In the second and third boxes there is a total of 42 marbles. In the third and fourth boxes there is a total of 32 marbles, and in the fourth and fifth boxes there is a total of 26 marbles.

How many marbles are in the first box?
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	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5


	Question 16 

If the sides of a square are increased by 10%, by what percentage will the area of the square increase?
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	Attempt 2
	Attempt 3
	Attempt 4
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	Question  17
It takes 15 minutes to fill a bath with the hot tap running.

It takes 12 minutes to fill the same bath with the cold tap running.

How long, in minutes and seconds, will it take to fill the bath with both taps running?
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	Attempt 2
	Attempt 3
	Attempt 4
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	Question  18
Write the following recurring decimal number as a fraction:




0.12121212…..



	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
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	Question  19
How many zeros are there on the end of the answer to the following product?



125 x 440 x 20000 x 800 x 25     ?



	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5


	Question  20
There are 112 pounds in one hundredweight.
There are 16 ounces in one pound.
There are 14 pounds in 1 stone.
There are 160 stone in 1 ton.
There are 20 hundredwight in 1 ton.

How many ounces are there in 1 ton?

	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5
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